Querhion 4

/. & /a/dcé Arm

M/Mﬂ(? /63/ fﬁjt-Atr' ("Q/éce//
Carw[//u.ué) /chétmj

T4 ’ /;"\/of')él/ ,4 Ff
Are 4000 &) ! / /.'Wug Ui 0/ /D/c e g /:. éﬁm—urﬁ
( €° cendoinace )

Bty indsrba by pork,

¢
f-ﬂ/u" t whka - wl o3 ¢ wk'é = 0
f"/("“-"#zéa ---p) A
J-/}:q

= o
z’/ mw/ A«’/ ér-
2’ - fo = £

&) 4
!f’\q

4 (o) = é,[d) =0,

a// W/

%/cn_ ) £ /( 0/?@44#
CO’\O{’.AG\ a/ N=o e ‘7&.:4 .
@‘c) w = ¢, (K/O(JI: n/ ~ C-Lc,c/g (—J/_CH/
@' = <, K ¢£ﬁ(JZh) - C'L'éea‘ﬂ{-j/;’y)
T4y Solvey (o() AR 10-""0 -
/o 40%&3 Conaﬂ}‘;a-.;/
OC(O) = C, # Ca :
(A.(L) = (,/(C;w(-}—z&) + (v é(;tﬂ (—j/; L)
(C) [c) I

€o =9 (L\)r #‘ f, 50(//'“/10&) d/fo

7 (77151-: crol  Sole 4::-., FE& §7eee (s -,Q.\GA‘-..,/ A
Condum ¢ Cxrcet Sl fem,

(&) For v chost, conmse b ;s OCKR), Hol X
Crr el redectic. N e 1) 415/6 Y/ e,//(
& For /)"-naf-. O(A) =7 &, /4.



Comm-ent .

Q1 Weak and strong forms and Finite element method in 1D
47 attempts, Average mark 12.6/20, Maximum 18, Minimum 2.

A popular and straightforward question, well-answered by candidates. The biggest
difficulty for students is that some of them were not able to deduce the strong form

from the weak one.
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Q2 Solution of a linear heat equation by a modal analysis

36 attempts, Average mark 12.0/20, Maximum 18, Minimum 5.
An unpopular question (an evidence that they did not know the material in the
lecturenotes well). Few understood the significance of the characteristics of the
generalised eigenvalue problem. Many students resorted to the reverse engineering
approach to answer the question by jumping steps.
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Q3 Calculation of stress in an elasticity problem
31 attempts, Average mark 11.9/20, Maximum 19, Minimum 2.

The least popular question that involves long calculations. Few students could use
the divergence (Gauss) theorem correctly in order to deduce the weak form from the
strong one, even though this is a part from the lecturenotes. Not knowing the material
in the lecturenotes well is a common characteristic among our students.
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Q4 Finite element solution of a heat equation problem
64 attempts, Average mark 12.6/20, Maximum 20, Minimum 6.

A popular question involving the full procedure of the finite element method, well-
answered by candidates. The only difficulty was in the assembly of the finite element
matrix, on which most students did surprisingly well. This means that they have
understood the essence of the finite element method.
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